





70

60

50

40

30

20

10

70

5-10

90
80
70
60
50
40
30
20
10

3 -




68

90
80
0F 1
6011 A 0.10 5.10
50 0-5
" /\T , r v
30 b T
20 12
10
0 L L L L L L L L L L
3 2 .
=] N 15
Bl
100
90 [ /[ ffffffffffffffffffffffffffffff
L
80 [\~~~ |/ [red=nsmsssmsssmsssansenssnanmnanannnammn" -
o f\ﬁ} f Jommret
V0000 /
60 7 AN JT
A ot
50 ffmee praat -
40 K~ ooy T AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
I B i e e E
20 . WAVAVA\WS )
10 ——-sﬁ‘: ———————————————————————————————————————————
o LI
o 2 1 2 3







8,600

300
8,700
12
71 30
500 425
20 72 30 1
830
() 1 330
() 3 200 25 50













10

2003




